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Inventories

Section B9

Accounting Pronouncements:  GAMAP 12: Inventories
1.
Introduction

Inventories can basically be described as assets held for sale in the ordinary course of business or in the form of supplies or consumables to be consumed during the service delivery process.  This does not include work-in-progress arising from the completion of a construction contract or agricultural produce, as these are dealt with in other accounting standards.  .

The above description includes goods purchased and held for resale such as land, refuse bags, water and other property, as well as materials and supplies to be utilised during the delivery of services, e.g. maintenance material, coal and fuel.  Water will be regarded as inventory when the municipality purchases water in bulk with the intention of reselling it to the consumers
, or to use it internally, e.g. in a cooling tower.   
A municipality should initially recognise inventory when it has control of the inventory, expects it to provide future economic benefits and the cost of the inventory can be reliably measured.  An example would be water held in reservoirs and pipes at the reporting date have to be determined and recognised as inventory.  However, the municipality might not be able to measure water in dams
 (non potable water) and this it is not recognised in the statement of financial position.
Inventory also includes goods held for distribution to others at no cost or for a nominal value, i.e. medicines.
The decision whether a certain item should be classified as inventory depends on the purpose or use to the municipality.  Property is recognised as inventory when it was acquired for the specific purpose of being traded or developed with a view to sell for, example township developments.  Conversely, a decision to sell property previously used as office buildings does not qualify the office buildings to be recognised as inventory, as the property was not held 
initially for the purpose of resale.  Classification of items as inventory depends on the intention of the municipality and not the nature of an item.
2.
Timing of recognition
An item cannot be recognised as inventory unless it has satisfied the definition of an asset.  Initially inventory is recognised as a current asset when the municipality gains control over it.  Usually at that stage, the cost can be determined reliably (amount payable to supplier or fair value) and future economic benefits or
 service potential from the sale of such items or the ability to deliver services as a result of the acquisition of the item are expected to be realised.
It is important to note that there are two components to inventory.  The first component is to determine the amount that should be recognised as an asset in the statement of financial position and carried as part of current assets.  The second component is the cost pertaining to the items that have been sold or consumed during the year which 
is recognised as an expense in the statement of financial performance.
3.
Initial measurement of inventories

The initial measurement of inventory is at cost, except when the inventory was acquired at no cost or for a nominal value
.  In such circumstances, inventory is measured at its fair value on the date that it qualifies for recognition as an asset, e.g. flu medication donated by a pharmaceutical company for distribution to the community will be recognised at replacement cost if distributed at no charged.  Subsequently the fair value assigned on initial recognition will be deemed the cost price of the inventory.
When municipality owned land is used for housing or other developments, the book value of such land should be transferred from property, plant and equipment to inventory.  No adjustments to the carrying value of the land should be made. If such land had previously been revalued, the revaluation reserve relating to such land should be retained until the land has been sold.
The classification between land included under inventory, land included under property, plant and equipment and investment properties requires careful consideration.  Where an entity owns undeveloped land, usually this will be classified as property, plant and equipment.  Where there is an intention to develop such land and to sell or transfer or contract it to a third party it should be classified as inventory rather than property, plant and equipment.
Where an entity develops land in anticipation of encouraging or facilitating economic or housing development, and it is probable that such developed land will not be sold or transferred to a third party within the short term, then the land and subsequent costs of development should be classified as property, plant and equipment until construction or development is complete where after it should be classified as an investment property.
The purchase of land or buildings for resale should be classified as inventory if the land or buildings is held for short-term sale in the ordinary course of operations.  If the land or buildings are held for long-term capital appreciation, the land and buildings should be classified as investment properties.


3.1
Cost price
The cost price of inventory encompasses the purchase price, including import duties, transport and handling costs as well as any other costs directly attributed to the acquisition of inventories.  
Value added taxation is not part of the cost price when it can be reclaimed from the South African Revenue Services.  

Trade discounts and rebates are related to the purchase of inventory and should be deducted in determining the purchase price.  Cash discounts on the other hand relate to the repayment of the outstanding amount and not the purchase of inventory and
 should be excluded from the cost of the inventory.

When inventory is imported and payable in a foreign currency, the cost of inventory is determined using the spot
 rate at the date of the transaction.  Other costs incurred such as import duties, landing cost and insurance will also be included in the cost price as it can be directly attributed to the acquisition of the inventory.

Transport cost incurred to get the inventory to the location where it will be sold or consumed, is included in the cost of inventory, in other words, transport costs include the cost of getting the inventory from the supplier to the municipal premises.  

The costs of providing a safe place for the storage of inventory until it is sold or consumed during the service delivery process does not form part of the cost price of inventory.  Storage costs include the cost of personnel manning the warehouse, security costs, insurance, etc. 

3.2
Conversion and development costs
The costs of conversion of inventories include costs directly related to the units of production, such as direct labour.  They also include a systematic allocation of fixed and variable production overheads that are incurred in converting materials into finished goods.  Fixed production overheads are those indirect costs of production that remain relatively constant regardless of the volume of production, such as depreciation and maintenance of factory buildings and equipment, and the cost of factory management and administration.  Variable production overheads are those indirect costs of production that vary directly, or nearly directly, with the volume of production, such as indirect materials and indirect labour. 

The allocation of fixed production overheads to the costs of conversion is based on the normal capacity of the production facilities.  Normal capacity is the production expected to be achieved on average over a number of periods or seasons under normal circumstances, taking into account the loss of capacity resulting from planned maintenance.  Unallocated overheads are recognised as an expense in the period in which they are incurred.  Variable production overheads are allocated to each unit of production on the basis of the actual use of the production facilities.  

Where a municipality is purifying its own water, the cost of purification will be recognised in the cost price of the water.  Similarly for municipalities that have their own nurseries – the costs associated with growing the seedlings, forms part of the cost of the plants recognised
 in the statement of financial position, as inventory.


The cost of land development for housing or similar developments which are acquired or developed for resale will include costs directly related to the development.  These direct costs will include the purchase price of land acquired for such developments, surveying and conveyancing costs and the provision of certain infrastructure.  They also include an allocation of development overheads that are incurred in facilitating such developments.  

The allocation of costs, both fixed and variable, incurred in the development of undeveloped land held for sale, into residential or commercial landholdings could include costs relating to landscaping, drainage, pipe laying for utility connection, etc.  Infrastructure costs that relate to extending the capacity of existing infrastructure would be excluded from development costs, e.g. the extension of the road network to link up to the roads constructed on the land being developed cannot be included as a cost of development.  It would be inappropriate to include the cost for an extension of a water purification plant to handle the increased consumption expected from a housing development project as development costs.  
A factor to take into account when determining the cost of providing infrastructure will be ownership and right of use.  If the entity retains the risk and rewards of ownership of infrastructure developed, then the costs of this infrastructure should not be treated as a cost of development because the item would not be sold but recognised as property, plant and equipment.

The costs of developing land which was acquired for the specific purpose of development for resale are directly attributable to getting the inventory (land) into a saleable condition.  These direct costs will include the price of the land acquired for development, surveyancing, 
rezoning and registration.  When land owned by the municipality is used for the development, the carrying value of the land transferred from property, plant and equipment, or investment property 
forms part of the cost of inventory.


Selling and marketing cost are also not included in the cost of the inventory as it relates to the sale of the developed land and not the development itself.  These costs are incurred subsequent to the land being in a saleable condition and are incurred to motivate potential buyers.
3.3
Other costs

In certain instances, additional cost is required to get the inventory in a saleable or usable condition, e.g. modification, assembly or storage cost.  Costs required before the inventory is ready for sale or consumption, are included in the cost price of the inventory, e.g. in the case of a nursery where a municipality is growing its own trees and plants, the cost of providing the sheltered environment necessary for the plants to reach maturity will form part of the cost of the plants.  
Examples of costs excluded from the cost of inventories and recognised as expenses in the period in which they are incurred are:

· abnormal amounts of wasted materials, labour or other production costs;
· storage costs, unless those costs are necessary in the production process prior to a further production stage;
· administrative overheads that do not contribute to bringing inventories to their present location and condition; and

· selling costs.
3.4
Cost of inventories of a service provider
The cost of inventories of a service provider consists primarily of labour and other costs of personnel directly engaged in providing the service, including supervisory personnel, and attributable overheads.  
Labour and other costs relating to sales and general administrative personnel are not included but are recognised as expenses in the period in which they are incurred.
If the municipality appointed an independent service provider as the electrical engineer to property development for resale, the cost of inventory at the reporting date will be the cost of the time and service that has already been delivered for which the related revenue has not yet been recognised.  If it is assumed that the total fee for the engineer’s services is R1 000 for 10 hours’ work and he has spend 5 hours on the project at the reporting date, the cost of the time (inventory) will be equal to the cost of his service for 5 hours, in other words his salary cost for 5 hours, recognised in the cost of converting work in progress.
4.
Subsequent measurement of inventory
Subsequent to the initial measurement of inventories at cost, e.g. on each reporting date, inventory is measured at the lower of its cost or net realisable value on an item by item basis.  In some circumstances, however, it may be appropriate to group similar or related items.  This may be the case with items of inventory that have similar purposes or end uses and cannot practicably be evaluated separately from other items in that product line.  
Inventory held for distribution to others at no charge or for a nominal charge
 is measured at the lower of its cost or current replacement cost.
The practice of writing inventory down to below cost to net realisable value is consistent with the view that assets should not be carried in excess of the future economic benefits or service potential expected to be realised from their sale, exchange or distribution or use.  The cost price of items may not be recoverable if those items are damaged, technically obsolete or their selling prices have declined.  

An item’s net realisable value is equal to the future economic benefits (cash) or service potential expected to be realised through the sale or utilisation of the item and takes into account any costs that have to be incurred to get the item into a saleable/useable condition, i.e. repairs, as well as those costs necessary to make the sale, e.g. auctioneer’s fee.  
Current replacement cost can be described as the cost the municipality would expect to incur if such inventory had to be replaced on the reporting date.

The determination of an item’s net realisable value or current replacement cost involves the use of judgement and caution should be exercised when making use of estimates.  It should also be based on conditions that exist at the reporting date.  Events after the financial year-end should only be considered to the extent that they confirm conditions that existed before or at the reporting date.  
As the net realisable value or current replacement cost of inventory is measured at each reporting date, situations could arise where inventories written down in one year may have to be written up in the following year as the items are still in inventory and the net realisable value has increased.  It is important that any reversal of a past adjustment is limited to the value of the original write-down.  The inventory can only be re-measured at the lower of original cost of net realisable value/current replacement cost, e.g. 
an inventory item with an original cost price of R10 000 was written down to its current replacement cost of R7 500 at 30 June 20x4.  Due to changes as a result of fluctuation in price during June 20x5, it is estimated the item can now only be replaced at a cost of R12 000.  As the current replacement cost at 30 June 20x5 is higher than the original cost, the item should only be valued at the cost, being R10 000 and the previous write-down in cost of R2 500 should be reversed.
5.
Cost formulas
The cost of inventory on-hand at the reporting date should be the actual cost of the specific items on-hand.  In some instances it may be possible to determine the actual cost of an item, but it may not be possible to determine the actual cost of items that are constantly bought and utilised during the year, e.g.  When some of the fuel has been carried forward from the previous year and additional fuel has been bought during the year at different prices, the question can be asked “which of those quantities are still on hand at the reporting date”?
  These circumstances might result in the application of the weighted-average method rather than the first-in-first-out method.
According to GAMAP 12 the cost of inventory may be determined using either the first-in-first-out or weighted-average method, as long as the same cost formula is applied to all items of similar nature and use and consistently from year to year, e.g. if the municipality’s inventory consists of maintenance materials and land developed for resale, the maintenance materials can be valued according to the first-in-first-out method, while the stands of the development project can be valued according to the weighted-average method.  Consequently, all land development projects are valued according to the weighted-average method.

5.1
First-in - first-out (FIFO)
The first-in-first-out method (FIFO) assumes that items purchased first are sold first and the items on hand at the end of the period are the most recently purchased items.  Within a normal business cycle, the cost of inventory on-hand at the end of the financial year will 
be higher than the cost at the beginning of the financial year.
5.2
Weighted-average method

According to the weighted-average method, the aggregate cost of similar items available for sale is divided by the number of units available for sale.  The weighted-average is usually calculated after each purchase.
Example 12.1 – Difference between FIFO and weighted-average method

The following transactions occurred in relation to refuse 
bags during the financial year ended 30 June 20x5 
1 Jul

Purchase

250 units 

cost per unit
R20

7 Oct

Purchase

300 units

cost per unit
R18

9 Jan

Sales


450 units


15 Mar

Purchase

200 units

cost per unit
R22

21 Jun

Sales


250 units



1) Determining the cost price of the refuge bags using FIFO at 30 June 20x5.

2) Determining the cost price of the refuge bags using weighted-average method at 30 June 20x5.


1)
Determining the cost of inventory on hand using FIFO at 30 June 20x5.

	Date  
	Purchase

Units  
	Price per

unit 
	Sales  

Units
	Price per 

unit  
	Balance

Units
	Unit price
	Transaction Value
	Inventory balance

	1
	250
	R20
	
	
	250
	R20
	R5 000
	R5 000

	7
	300
	R18
	
	
	300
	R18
	R5 400
	R10 400

	9
	
	
	(250)
(200)
	R20

R18
	(450)
	
	(R8 600)
	R1 800

	15
	200
	R22
	
	
	200
	R22
	R4 400
	R6 200

	21
	
	
	(100)
(150)
	R18

R22
	(250)
	
	(R5 100)
	R1 100

	
	
	
	
	
	50
	R22
	
	R1 100


Inventory on hand at 30 June 20x5 = R1 100

2)
Determining the cost price of the refuge bags using weighted-average method at 30 June 20x5.

	Date  
	Purchase

Units  
	Price per

unit 
	Sales  

Units
	Price per 

unit  
	Balance

Units
	Unit price
	Transaction Value
	Inventory balance

	1
	250
	R20
	
	
	
	
	R5 000
	R5 000

	7
	300
	R18
	
	
	
	
	R5 400
	

	
	
	
	
	
	550
	R18.91
	
	R10 400

	9
	
	
	(450)
	R18.91
	
	
	(R8 509.50)
	

	
	
	
	
	
	100
	R18.91
	
	R1 890.50

	15
	200
	R22
	
	
	
	
	R4 400
	

	
	
	
	
	
	300
	R20.97
	
	R6 290.50

	21
	
	
	(250)
	R20.97
	
	
	(5 242.42)
	

	
	
	
	
	
	50
	R20.97
	
	R1 048.50


Inventory on hand at 30 June 20x5 = R1 048.50

6.
Recognition as an expense
The carrying amount of inventories issued or sold during the year can be recognised as an expense in the statement of financial performance during the period in which the revenue is recognised.  Where the inventory was distributed at no cost and consequently no revenue recognised, the expense is recognised when the goods are distributed, or the service is rendered.  However, some inventory items may be allocated to other assets, e.g. an item used as a component of property, plant and equipment.  In such cases, the cost of the inventory included in that item of property, plant or equipment is recognised as an expense over the useful life of the asset through depreciation.
The amount of any write-down of inventories to net realisable value or current replacement cost (refer to section 4 above) and all losses of inventories can be recognised as an expense in the statement of financial performance.  The amount of reversal of any write-down of inventory, arising from an increase in net realisable value or current replacement cost, can be recognised as a reduction in the amount of inventory recognised as an expense.
7.
Disclosure requirements
The following information is disclosed in the financial statements:
a)
Accounting policy 
The municipality should disclose the adopted accounting policy that will result in the fair presentation of inventory in the statement of financial position.
b)
Statement of financial position

The statement of financial position should disclose the aggregate balance of all inventories as a separate line item on the face of the statement of financial position.  The notes to the financial statements disclose the total carrying amount of each category and inventory pledged as security for liabilities.

c)
Statement of financial performance

The cost of inventory recognised as an expense during the period, the amount of any write-offs of inventory as well as a reversal of previous write-offs and the circumstances thereof, are disclosed in the statement of financial performance or the notes thereto.
Example 12.2 – Disclosure of inventory

Notes to the financial statements

	14.
	Inventory
	20x5
	20x4

	
	
	
	

	
	Consumable stores – at cost
	36 103
	96 384

	
	Maintenance materials – at cost
	 143 052 
	 164 255 

	
	Spare parts – at net
 realisable value
	 47 684 
	 82 128 

	
	Water – at cost
	576 839
	428 512

	
	Other goods held for resale – at cost
	-
	-

	
	Unsold properties held for resale – at net realisable value
	156 087
	 242 189 

	
	Total Inventory
	 959 765 
	1 013 468 

	
	
	
	


Included in the carrying value of unsold properties is a reversal of a write-down recognised in the previous financial year amounting to R75 000.  The reversal is due to the increase in property prices which has resulted in higher selling prices being obtained.

Included in maintenance materials is an amount of R50 000 pledged as security for an outsourced maintenance contract.

Transitional provisions
The requirements of GAMAP 12 should be applied prospectively upon the first-time adoption of the standard, however, when it results in a change in accounting policy or estimate reference should be made to the Standard of GRAP 3. 
Exemptions
Refer to Section B0.
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